BSEH Practice Paper (March 2024)

CLASS: 10th (Secondary) Code: C

Roll No.

fameT
SCIENCE
(Physics, Chemistry and Life Science)
[Hindi and English Medium]
ACADEMIC / OPEN

[Time allowed: 3 hours] [Maximum Marks: 60]

o PUIT FlARTYT @ & 57 ge7 97 # Flad g5 d&gqr # 17 &
IR sTH 30 g9 &/
Please make sure that the printed pages in this question
paper are 17 in number and it contains 30 questions.

o o7 GF & &3 3N 3V T Fis FFGY F BI7 GaRT FR-YIETHT
& Ggel gvo GV fel@r ST afev)
The Code No. on the right side of the question paper should

be written by the candidate on the front page of the answer-
book.
o [FH FoT FT 36X eI YF FNel & Ugel IHPI FHIF [o1GAT F1TT

Before beginning to answer a question, its Serial Number

must be written.
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o 3Gl I GIETH H Glell Geadl /Toet T B3]

Don't leave blank page/pages in your answer-book.

o IN-YRETFT & IHIARFT @l g e g & oA I
HTTeTHAER &1 feld T feld 3a% &I o FIc/

Except answer-book, no extra sheet will be given. Write to
the point and do not strike the written answer.

o GG YT el v g9 T GT HIeF o1&

Candidates must write their Roll Number on the question
paper.

o FYIT gl FT IR a7 & 9 Fg GlARTT F & 3 geT9d qof
g Tl &, qOaT 3 IWIT 39 G9€ H FiF 31 grar e TgT fFar
oATeIT/

Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim

in this regard, will be entertained after examination.

AT fAger:
(i) T goaT fAard &
(ii) FEgless gos1 & &gl fabey fo1dd]
(ifi) T2F FoT & 3P I HiHA T T &
General Instructions.
(1) All questions are compulsory.

(ir) Write the correct option in objective type questions.
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(i) Marks of each question are indicated against it.
T3 ¥
SECTION - A
(o fawmme)
(Physics)

1. T & T 3R $Ig Felacial fhdl qaehiy &9 H &7 &
dead 9dU FAT g1 Selaeid U IR Sof T fe2m Far

g7 1
——>
—T— > ke
—T>»
\4
TR
a) s 3R
b) I 3R

Cc) PIITST H dTEX ﬁ}ﬂTaﬂ?rng
d) HETS H #R Hr IR 1 gV

An electron enters a magnetic field at right angles to it,
as shown in figure. The direction of force acting on the

electron will be:

M —’
— _> Magnetic field
— _>

\

Electron
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a) to the right.

b) to the left.

c) out of the page.

d) into the page.

T BT & 59 Ush IRUY & faegeadg arR dur 3eriie ar
gt WY queh H 3T 87 1
a) 39ed g

b) Rged &

c) 3rfaeror

d) $H & PIS e

What happens when live wire and neutral wire of a

circuit comes in direct contact?
a) boiling

b) melting

c) overloading

d) none of these

STl &7 Iadedish gl 1

The refractive index of water is

T FT YR FIT § TS ST Bieved oars -40 J#T 7 1

What is type of lens if it has focal length of -40 cm?
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fFafoaa a9 # o saa §: JATFFUT (A) 3R SROT (R),

T & A e T 39geFd Qhegd T T FA U 3R

IS 1

HARYUA (A): R8T 417 & T A fAegd URT Jarfegd Hia
W 3% IR 3R Toh Jehld &1 3ceed gl ST gl

SRUT (R): faegd URTERT dleleh & TET doehld &1 T feem
A &Ed 39S fATA gary & S g

a) AdR al I & a7 R, A &7 TET <@ g

b) AT R QA T & IUT R, A I TgT =ar@ar J&T gl

c) A T § Wd R 38T &

d) A 38T § W R T &l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): An electric current through a metallic

conductor produces a magnetic field around it.

Reason (R): Direction of magnetic field associated with
a current-carrying conductor is given by Left-Hand thumb

rule.

a) Both A and R are true, and R is the correct

explanation of A.
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b) Both A and R are true and R is not the correct

explanation of A.

c) A is true but R is false

d) A is false but R is true.

Ush FHAT AT a9 & AU fase-fdg 3R g1-fdg &1 &=
o | 2
Write the values of near point and far point for a normal

human eye.

fda afda & oS frar fagamdt s eamFgee gga A Hidarg
gidl &1 I8 Tacandf fra Tfce aw & difsd &7 38 fd YR
aenfea fRar ST dehar 872 2

A student has difficulty reading the blackboard while
sitting in the last row. What could be the defect the child

is suffering from? How can it be corrected?
Jgar

Or

ITEAT Y fob TITS 3TTHILA T [T Aol FAT giam 872
Explain why is the colour of the clear Sky Blue?

S5 4.0 cm WSSl &1 fod fordl 15.0 cm ®ehd gl & 3radel
equr & 25.0 cm gl W w@r gl wfdfds & gt aur ager
AT AT 3
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10.

An object, 4.0 cm in size, is placed at 25.0 cm in front
of a concave mirror of focal length 15.0 cm. Find the

distance and the size of the image.

4 Q, 8 Q, 12 Q dur 24 Q iRy A IR FHsfordt a1 Fa
JhR Fdltold Y foh T & (a) 3ff¥aad (b) etad
FfRIY gTed g1 Hh? 3

What is (a) the highest, (b) the lowest total resistance
that can be secured by combinations of four coils of

resistance 4 Q, 8 Q, 12 Q, 24 Q7

fer v T & 9R9Y 3@ # A 5w gfagswt Ry, R,
dAuT R; & AT &AM 5 Q, 10 Q, 30 Q § TAT 3¢ 12 V
ST St ¥ @afSaa far @ g1 (@) 93 afokigs @
varfed faegd Onrr (b) aR9Y & garfed e fdegd ary T4

(c) aRTY FT Fel IR IRHferd FfST 5
B I R: M
2 M
P R, Q
A 4 S T 4
)
+\_/_ v
+ - K
—HHH: & (>

In the circuit diagram given in figure, suppose the
resistors Ry, R, and R3; have the values 5 Q, 10 Q, 30
Q, respectively, which have been connected to a battery

of 12 V. Calculate (a) the current through each resistor,
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(b) the total current in the circuit, and (c) the total circuit

resistance.

Y HHH - o (=
3Ygdar
Or
fArfaf@a =1 Tase ffaT]
Explain the following.

(a) faegd ofFdl & dq3it & fHAOT # YR UeA e
I & 39T &4t fohar SiTar g2 1

Why is the tungsten used almost exclusively for filament

of electric lamps?

(b) faegd e FiFAAT S o5 TR FAT aegd s &
qTeleh ey T3 & T W fAAE] & 1 §=rw Sd
87 1

Why are the conductors of electric heating devices, such

as bread-toasters and electric irons, made of an alloy

rather than a pure metal?
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11,

(c) Tl faega aRwal & Aviishd TS H1 IuAeT F4
Ter fohar STar 872 1

Why is the series arrangement not used for domestic

circuits?

(d) fFEr ar @1 9faRIer 3HR U FIC F &FTh H
gRadd & a1y 8 yeR aRafda gar 27 1

How does the resistance of a wire vary with its area of

cross-section?
(e) T FORUT & fAT 9N H AT VeffAFIH & ari
T 3T FIT ThAT ATAT §72 1

Why are copper and aluminium wires usually employed

for electricity transmission?

s
SECTION - B
(T fAameT)

(Chemistry)

SIS oo BTSSIFRllNeh 3FeT 1 I IFATSS & Ay A
ST & o 3c9Tg ST &7 4T 8T g7 1
a) oImel-ATE

b) g-drelr

c) sie-gRkd
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d) e

What is the colour of product when dilute hydrochloric

acid is mixed with copper oxide?
a) Red-orange

b) Green-yellow

c) Blue-green

d) Black

12. foqd # fhEced & ST & VLT I J&dr #2417 1

What is the number of molecules of water of

crystallisation in gypsum?

13. gIssiol 39 & Y ARt AT
geATdl &l 1
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14,

15.

Hydrogen gas combines with to form

ammonia.

g AE8¢c & FSHT AUUCT W 3cle< 1 & 17 faf@u|
1

Name the gases produced on thermal decomposition of

lead nitrate.

frAfaf@d e & o 3 §: JAFeuaT (A) 3R FROT (R),

TReT & S f&d AT IuPead fdehed #T T ERR
I 1

3T (A): Teg & doir # Asea g 9 Yy S &
HRUT (R): dASelelel 3T T & 3UTIA Uhal &l

a) AT R gl I § duT R, A &1 TEr ar@an gl

b) Ad R Al & § 9T R, A &I HEr IrEAT 8T gl

c) A T § Wd R 38T &

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.
Assertion (A): Bags of chips are filled with nitrogen gas.

Reason (R): Nitrogen gas prevents oxidation of fats.
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16.

17.

18.

a) Both A and R are true, and R is the -correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.
c) A is true but R is false

d) A is false but R is true.

HH Helcd 3 FHH eleieh drell al a3 & 717 faf@u)
2

Name two metals with low densities and low melting

points.
Ny 3R O, Ug3it T gererele foeg EXw= Wi 2
Draw electron dot structure of N, and O, molecules.
3gar
Or
Uodhlell 3R Vehell & foIT AAET g QU] 2

Write general formula for alkenes and alkanes.
TAATST o ATY Soichr JTRTRATT 1 ford: (i) AfszeT (i) 137
|G H,SO, T (jii) 3Feidd K.Cr,0; & &g FvAT 3

Write reactions of ethanol with (i) Sodium (ii) Hot Conc.

H,SO,4 and (iii) Acidified K,Cr,O; with Heat
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19.

20.

FA-8TY UfehaT & Hgcaqul 3cdial & oA fof@u] s
3cdIe &l Teh 3997 ford| 3

Write name of important products from chlor-alkai

process. Write one use of each product.
3ar
Or

U & AY 3T T AAKIT @ W AT Dl AT
AT fe¥eheldll 82 Teh 3GIEXUT & GaRT ASSU| 39 g &
3fEAfa 1 JT 3T FF HET? 3

Which gas is usually liberated when an acid reacts with
a metal? lllustrate with an example. How will you test

for the presence of this gas?

aegH JfAfRIRer argsit & faswdor i gfshar &1 Tose
T 5

Explain the process of extraction of metals of medium

reactivity.
3Ygar
Or
ST & T T3t i AAfHATNAr i TIYe STl 5
Explain the reactivity of metals with water.
s ¥
SECTION - C

13
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(sha —=me)

(Biology)

21. AERA@T & @ Fld A1 TORGT Tk ASH F 3TS AT F
faaa # &ear 872 1

a) X
b) Y

c) 3uded axat
d) 378 & FIS eI

Which of the following chromosome is inherited by a girl

child from her father?
a) X
b) Y
c) Both of the above

d) None of these

22. #HSA & TH YT H ofd A & U Sl Sael avg &,
Faor diet el eis whe ovg &, & ST IRT| ST
qfa & @i el F g57 darelt 3T o | W 37 I oareyar
3T S A SHA FET ST Hehal § b ol Sfefeh Gier &
T RI Tl folasT 27— 1

a) TTWW

b) TTww
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23.

24,

25.

c) TEWW
d) TtWw

A Mendelian experiment consisted of breeding tall pea
plants bearing violet flowers with short pea plants bearing
white flowers. The progeny all bore violet flowers, but
almost half of them were short. This suggests that the

genetic make-up of the tall parent can be depicted as:
a) TTWW
b) TTww
c) TtwWw
d) TtWw

TrAfAS SUHIFAT Wed HGell H ol F X
W I El 1

Primary consumers come at trophic

level in a food chain.

3T gTHT &7 1 Jd18T Sl WRIg & TTHET F HITRARIIT ST
ST # gefT 7 wErTeh g &l 1
Name the hormone that helps the cells to grow longer

in shoot tip.

fAfaf@d uead & ar 3 §: JAFeuaT (A) 3R FROT (R),

gl & A e AT IUGFT fahed T ITA I g IR
QU 1
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26.

BT (A): ol R GF A 37 aTer WA fafdor
q gl T YT Jelel Hel g

HROT (R): 3ISleT agASH & ool R & aids fav gl

a) Ad R 3l I § 9T R, A &I &g <JrE3n gl

b) A d R Gl T § dUT R, A &I Tgr SI@aT =Tel ¢l

c) A §T § Wd R 38T ¢l

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): Ozone shields the surface of earth from

ultraviolet radiation from the sun.

Reason (R): Ozone is deadly poison in lower levels of

atmosphere.

a) Both A and R are true, and R is the correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.
c) A is true but R is false

d) A is false but R is true.

HISal H HIFHISTel TUT Hleel SSIHFASS HT IRagel Had
grar 87 2
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How is oxygen and carbon dioxide transported in human
beings?

27. T AR IR WM & ATH FdTSU. 2
Name four diseases that are sexually transmitted.

28. HATId HATEISH Hl Teh ATHIRA ARG TATT| 3
Draw a labelled diagram of human brain.

29. YA qur RRI3T # 3T Hifav| 3
Differentiate between arteries and veins.

3gdar
Or

e H ST & TATATAROT & giar g7 3
How is food transported in plants?

30. O SaRT I & Sielel HEN HT TISC HITST| 5
Explain reproductive parts of flower with diagram.

Aydr

Or

T garT AT & AT S dF & sgredr hifswl 5

Explain human female reproductive system with diagram.
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